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Problem 13 

A topology problem. 

You may stretch or shrink the loops (or any segment of the object below), but you can not 

disconnect any part of the object.  You may not combine two loops together to make 

them one loop, shrink a loop to get rid of it, or create a new loop by combining two ends.  

How can we transform the object on the left to the object on the right?  Illustrate by 

sketching your transformation. 
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Submit to :    MAJ Jong H. Chung 

How :    
As an attachment to an 
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With the subject line :    WP POTW 

Failure to follow these directions may result in your submission not 
making into the pile in the right order! 

 


